| Efficiency vs Dxy |
0.5
<

S : : : : : : : : :
LA

Sodb
o e e S S
° __F

O e A S S S
0252— ------------------------------------------------------------------------
022— ---------------------------------- e
L] ot O SO St
oy TS IOt SUCSS e SOt S

=
!
"

e

09 56-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TT_base_noSel

| Efficiency vs Dz |

—— DQM_mkFit_TT retrainOldFiles_v2_noSel
N 0.5 ; . .

T R S PR R -
2 A A

Boaf o

o : : : : :
.35 AR A A AR
o : : : : :
s S s R
P35 ORES S MU T ——

e S S S A
0.2 5 :++++"'; i :

s

e R R S S
005 b

OL.L@:IIII:III|‘!IIII!IIII!F'I"II:ll"

Rati

0935 ~=20 -10 0 10 20 30

TP dz (cm)



	Contents
	Page 1


